PEM75vYy9aAy R ZA9Y R

(#17: FH-FHS-FHA)

IING STU.

v oe=]

1S

[ E= £ tHRORANES— IUVFUTRIYR
it e
B A 7 B RENE EARMEE
FH AF—=IL fEAXy HRBSOLTF
300U —X ey \
FHS |x5vL225—| AE#E{IE | HRB7OLT
FHA | 29204 | #& UL | HRBSOLT
mi 5 [ L
FH - M4 - 10 - ZI E
g om B ' '
RLI—=F ¥ REMNE B
2R
e
.%E’ *% ﬁ H{F mm
W R
RUDME 2pp P7LA TLS 2RI-FL':04 el 20 IRl [
A=l =2k
M2.5x045| FH | FHS | FHA | %6 | %8 |%10|%12|%15]|18] NA[NA NAINA| 1 | 25 | 41 |1.95] 54
M3x0.5 FH FHS FHA |*6| 8 | 10|12 | 15| 18 |*20[*25|NA|NA| 1 3 46 | 2.1 5.6
M4x07 | FH | FHS | FHA | *6| 8 | 10|12 |15 | 18|20 | 25 |*30[%35] 1 | 4 |59 | 24| 7.2
M5x0.8 FH FHS FHA [NA|*8| 1012|1518 | 20 | 25 [*30|*35| 1 5 6.5 | 2.7 7.2
MB6x1 | FH | FHS | FHA* | NA|NA|10] 1215|1820 2530135 16| 6 |82 3 | 70
M8x1.25 FH FHS NA |[NA|NA|NA[*12| 1518 |20 |125(30|35|24| 8 96 | 3.7 96
1 kEFFERICEDET, 2 NAFEETEEEA. *D:ERf RO SiRGEE TORNERETT,
BEffEER
1.6mmZ7ILS = LFH# 1.5mmAF—)L&
RUY | B R | EAH | ®EH | ML2 | WEEESD | EAS | EEH | Lo | 3RS
(kN) (N) (N*m) (N) (kN) (N) (N+m) (N)
FH 89 1 2880 | 171.1 1 2880
R S 116 625 09 2070 | 138 | '9%° 0.9 2070
FH 129 1.7 3700 17 2200
Me FHS 129 8l 1.3 3070 | 47 1250 13 3070
FH 20 36 5340 | 289 5.1 6540
M4 FHS 223 | 1290 34 5250 | 267 1780 3.9 5340
FH 25 6230 | 334 7560
M5 FHS AR | Al 45 5860 | 325 | %0 [ 7380
FH 6) 12680 136 | 16600
) FHS 283 | 2000 84 | 11200 | **° | 3110 M2 T2300
FH 158 | 12400 | 445 19100
e FHS 298 | 2440 ga T 11800 | a98 | 380 | 215 [95a00

* 1 MEDEFBEIE2 AMmOFPILEZ VLB E2 2mmDAF —ILBHOTF—5 T,
*2  MBORBREIE2AMMOPILE =IO LBHEAF—ILBHOT — 9T,
*3 I EERTFHETT, AHEHCLIVHEREDDET,



